CALcuLus II, SPRING 2007 FIRST MIDTERM PRACTICE

Problems 1 through 12: evaluate the indefinite integral.
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13. The base of a certain solid is the region in the xy-plane bounded by y = sinx, y = cos z,
x = 7/4 and x = 5r/4. If the cross sections of this solid perpendicular to the z-axis are
equilateral triangles with their bases in the zy-plane, determine the volume of the solid.

14. A bowl-shaped solid is obtained by rotating the bounded region between the curves
y = 2% and 4y = 322 + 4 about the y-axis. Find the volume of this solid.

15. Find the area of the surface obtained by rotating the portion of the curve y = Inx
between x = —1/2 and z = 2 about the y-axis.



